BIENVILLE PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Pine				307,602	cords	
Hardwood				67,609	cords	
Pulpwood (Total)				375,211		
Chip & Saw (Total)				52,640	cords	
Saw Timber						
Pine				65,273,894	board feet	
Hardwood				6,752,278	board feet	
Saw Timber (Total)				72,026,172		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill						\$70,245,622
Total Forestry Stumpage						\$36,323,094
(Total)						ψ30,323,071
Christmas Trees (Total)	*			1,000	trees	\$40,000
Forestry (Total)				-,		\$70,285,622
FRUITS						, , , , , , , , , , , , , , , , , , , ,
Mayhaws						
Orchard	*	3.0	360.00	1,080	lbs.	\$1,404
Mayhaws (Total)		3.0				\$1,404
Peaches (Total)	*	4.0	200.00	800	bu.	\$32,000
Fruits (Total)		7.0				\$33,404
HAY FOR SALE						
Grass (Total)	130	5,000.0	2.75	13,750	tons	\$1,270,500
Hay for Sale (Total)		5,000.0				\$1,270,500
Home Gardens (Total)	2,600	,				\$520,000
VEGETABLES						
Cabbage						
Fresh	*	1.0	400.00	400	sacks (50 lbs.)	\$3,600
Cabbage (Total)		1.0				\$3,600

VEGETABLES						
Cantaloupe (Total)	6	8.0	200.00	1,600	cartons (40	\$27,888
					lbs.)	
Cucumber						
Fresh	*	1.0	200.00	200	bu. (50 lbs.)	\$3,600
Cucumber (Total)		1.0				\$3,600
Mustard (Fresh) (Total)	7	7.0	600.00	4,200	doz. bunches	\$29,400
Okra (Fresh) (Total)	*	1.0	250.00	250	bu.	\$7,500
Peppers						
Banana	*	1.0	600.00	600	bu. (25 lb.)	\$9,000
Bell	*	1.0	600.00	600	bu. (28 lb.)	\$12,000
Cayenne (Processing)	*	1.0	60.00	60	cwt.	\$1,500
Peppers (Total)		3.0				\$22,500
Southern Peas (Fresh) (Total)	25	250.0	100.00	25,000	bu. (24 lbs.)	\$625,000
Squash (Fresh)						
Yellow Squash	12	4.0	250.00	1,000	bu. (45 lbs.)	\$22,500
Squash (Fresh) (Total)		4.0				\$22,500
Sweet Corn (Fresh) (Total)	10	35.0	600.00	21,000	doz. ears	\$73,500
Tomatoes (Field) (Total)	12	7.0	1,000.00	7,000	lugs (20 lbs.)	\$140,000
Turnips (Fresh) (Total)	10	15.0	600.00	9,000	doz. bunches	\$63,000
Watermelon (Total)	15	700.0	250.00	175,000	cwt.	\$1,400,000
Vegetables (Total)		1,032.0				\$2,418,488
TOTAL ALL PLANT ENTERPRISES						\$74,528,014

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
Alligators (Wild) (Total) HUNTING LEASES				120	ft.	\$3,000	
All Other Game (Total)	175	275,000	No. Acres Leased		acre	\$1,925,000	
Hunting Leases (Total)						\$1,925,000	
TOTAL ALL FISHERIES & Y	WILDLIFE ENTERPRISES					\$1,928,000	
	ANIMAL	ENTERPRISES	PRODUCTION	ON			

BIENVILLE PARISH 65

BIENVILLE PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				345	head	\$171,501
400-500 lbs.				740	head	\$412,754
500-600 lbs.				750	head	\$459,154
600-700 lbs.				238	head	\$163,595
Steer Calves (Total)						\$1,207,004
Heifer Calves						
400-500 lbs.				555	head	\$289,585
500-600 lbs.				610	head	\$352,644
600-700 lbs.				375	head	\$249,795
Heifer Calves (Total)						\$892,024
Yearling Cattle						
600-700 lbs.				200	head	\$129,935
700-800 lbs.				150	head	\$106,819
Yearling Cattle (Total)						\$236,754
Cow-Calf Pairs (Total)				650	pair	\$617,637
Cull Cows (Total)				600	head	\$226,950
Cull Bulls (Total)				55	head	\$46,505
Cattle & Calves (Total)	175	4,900	No. Cows			\$3,226,873
HORSES						
Brood Mares						
Race Horses	12	71	No. Brood Mares	48	head	\$384,000
Show Horses	20	80	No. Brood Mares	70	head	\$280,000
Recreation Horses	250	300	No. Brood Mares	200	head	\$300,000
Brood Mares (Total)						\$964,000
Stud Fees						
Race Horses		8	No. Stallions	60	mares bred	\$150,000
Show Horses		5	No. Stallions	60	mares bred	\$90,000
Recreation Horses		20	No. Stallions	300	mares bred	\$150,000

HORSES						
Stud Fees (Total)						\$390,000
Race Horses (Total)	12			40	head	\$480,000
Show Horses (Total)	25			40	head	\$200,000
Recreation Horses (Total)	450			550	head	\$825,000
Horses (Total)						\$2,859,000
POULTRY						
Broilers (Total)	8			24,174,220	lbs.	\$15,544,023
Cull Hens (Total)				1,106,850	lbs.	\$66,411
Breeder Flocks (Total)	*	157,500	No. Birds	1,968,700	doz. hatching	\$3,642,095
					eggs sold	
Poultry (Total)						\$19,252,529
Quail (Total)	*	5,000	No. Breed		each	
			Stock			
GOATS						
Show Goats (Total)					head	\$5,000
Slaughter Goats (Total)					head	\$3,750
Stocker Goats (Total)					head	\$1,425
Cull Goats (Total)				15	head	\$975
Goats (Total)	10	75	No. Does			\$11,150
SWINE						
Show Pigs (Total)					head	\$1,400
Feeder Pigs (Total)				175	head	\$5,250
Slaughter Hogs (Total)				100	head	\$12,022
Culls (Total)				45	head	\$7,200
Swine (Total)	6	35	No. Sows			\$25,872
TOTAL ALL ANIMAL ENTERPRISES	5					\$25,375,425

BIENVILLE PARISH \$101,831,439 67